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Complex Analysis — Part 30

)[: C — C holomorphic
with known values {(2,f(zﬂ | e 9&(30)}

ﬂ : (E S (]: holomorphic with same values on 9&(’%)

Cauchy's integral formula
_> 5= g o B.(2,)

Identity theorem: ¥ 9 D —= C nolomorphic , D open domain (connected).

Then: {26@ | O 5(2)} has an accumulation point in D
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There is ce D with gm(c) - jw(c) for all h=0,11,..

What is an accumulation point?

foD is called an accumulation point of the set ME& D ' D
M

f for all open set U with peld : NS n M 26

M:{N e o o o ooo@oooooooo no accumulation point

M = {% | he€ |N’§ @ o o o J O is accumulation point

Proof idea: L):: 5 -9 holomorphic, Show the equivalence of:
(1) M = {26@ | \q(ﬂ = 0 } has an accumulation point in D

(2) h =0

(n)
(3) There is ce D with \r\ (C> =0 for all h=0,1,1,..

(1) =>(3) (Covﬁvaposi’fiom: 1(3) = —1(1)7
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For each ce D there is a minimal m with L\M(C) + 0

and L,(’i—) = iﬁ@(t_c_\)‘( = Qh.aft_c,ﬁm-\— @i !
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Ak = {Z‘E,:D | "\U“(27: OE closed :> A‘.: O Ak closed
1 3) =0
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A is also open: CE€ A

:D connected

= A=D = h=0

()= ¥ 0
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